FORD MUSTANG 2015

INSTALLATION MANUAL

N

DO NOT DRIVE SLOWLY
WASH CAR 25 mph max
24 hrs

READ CAREFULLY BEFORE
INSTALLATION

D)
7,
‘j We recommend 2 persons for installation !

e Y— g
&) S
L—>& (Z10mm
~= ke @7mm
GHEGK Lls T *Already installed in the part
ITEM DESCRIPTION DRAWING AMOUNT
Included in
*
A VHB TAPE = e arte
B GREASE PENCIL 1pc
c TIN SCREW 4.8 X 25 MM W)')'J')'J'» 2 pes
D STAINLESS LOCKNUT M6 4 pcs
E WASHER M6 8 pcs
BUTTON HEAD STAINLESS A
F SCREW M6 X 16 pcs
G BRACKET “ 2 pcs
H ADHESIVE POLYURETHANE @l 1pc
I AXIS CLIP ﬂ- 2 pes
J SCREW 5/32” X 1/4” @— 2 pes
K PUSH PIN 387 ‘Z—D 4 pcs
L ECO DOME 1pc
_ )
N\ J



https://www.carid.com/air-design/

INSTALLATION MANUAL
( A

a REMOVE PUSH PINS ‘

@ W= NS / FORD MUSTANG 2015 )
/ A

If your car have parking sensors,
drill from the inner side of
the difuser in the marks with
a 5/8 metal hole saw drill bit




FORD MUSTANG 2015

@ W =S A /
/ INSTALLATION MANUAL

e: REMOVE ORGINAL REFLECTIVE LIGHTS

W%

‘ ’ CLEAN e PRE-MOUNT
— =

. “
D

-

No—

A

M”




@ W =Nl FORD MUSTANG 2015

/ INSTALLATION MANUAL A
( )
DRAW CENTER HASH MARK WITH GREASE
‘:, MARK PENCIL ON REAR DIFFUSER AND SHEET METAL, PEEL OFF
THIS WILL ENSURE REAR DIFFUSER WILL BE LINER
CENTERED TO GREASE PENCIL OUTLINE. «—
A HASH MARKS
AW T\ XS
\ WARM SURFACES WITH HEAT GUN IF SURFACE /
X TEMPERATURE IS TOO COLD. Y
— A
A full surface contact between tape and substrate is decisive for good adhesion performance. Contact
is achieved by applying pressure. In practice a pressure between 40 and 50 N/cm? is usually needed
and an application temperature between 25 and 45 °C or 77 and 113 °F is also necessary. During
application, add-on parts and tapes must have the similar temperature.
X
&APPLY ADHESIVE ﬂ”
L Sl
\_ J




_

INSTALLATION MANUAL

@:PLACE BRACKET (G)

@ W= N / FORD MUSTANG 2015

APPLY PRESSURE




-~

FORD MUSTANG 2015

\

@ (///@EX/G\/Z

INSTALLATION MANUAL

N

-

m: PLACE AXIS CLIP

~




\

FORD MUSTANG 2015

INSTALLATION MANUAL )

READ CAREFULLY BEFORE
INSTALLATION

ROCKER WINGLETS MUSTANG 201?
PART # : 1101NXGJFO22A23

’j We recommend 1 person for installation '

>
CRT—r 7 2
Rl =
[
GHEGK LIST *Already installed in the piece
ITEM DESCRIPTION DRAWING AMOUNT
Included in
A *\/HB TAPE @ the parts
B TORX SCREW 3/16” X 3/4” @)})))})))})’M))))))))))} 16 pcs
c ECO DOME [ D= IS J 1 pc
\ J




FORD MUSTANG 2015

@ o= SNN
/

INSTALLATION MANUAL

J

-
AWASH WITH WATER, DETERGENT AND

SOFT CLOTH OR SPONGE
" CLEAN

v.'-‘

’SOPROPYL

D}

PEEL OFF
LINER

e’ ALIGN

../7\

PEEL

-
IASKING TAPE

LINER
Hold the liner out

A full surface contact between tape and substrate is decisive for good
adhesion performance. Contact is achieved by applying pressure. In

practice a pressure between 40 and 50 N/cm? is usually needed and an
application temperature between 18 and 40 °C is also necessary. During
application, add-on parts and tapes must have the similar temperature.

DRILL

BOTTOM VIEW

40-50 N/cm2

SECURE THE PART

Iy, N
DIy, \)

@//I)Illl)ll//l)

s
D =

AREPEAT ALL 6 STEP

@J’/Illll//l/lllf»

e,
S T#20

S FOR EACH ROCKER WINGLETJ




READ CAREFULLY BEFORE
INSTALLATION

SIDE SKIRTS MUSTANG 201 5\

PART # : 1118NGJFO22A06

CHECK LIST

*Already installed in the part

ITEM DESCRIPTION DRAWING AMOUNT
A TORX SCREW 3/16 X 3/4” @py)p)»)»)))»)» 4 pes
o
B PUSH PIN WURTH 46 \‘”“MMD 16 pes
©
c WASHER 1/4 ” 2 pes
D ECO DOME == 1 pcs

.
@ W= NS / FORD MUSTANG 2015
p / INSTALLATION MANUAL )




@ W= NI FORD MUSTANG 2015
ya INSTALLATION MANUAL

WASH WITH WATER, DETERGENT AND
SOFT CLOTH OR SPONGE

oszMOVE ORIGINAL

_/

-

J

a REMOVE PART

e:REMOVE RIVET




@ W= NS / FORD MUSTANG 2015

INSTALLATION MANUAL

_/

(r

REMOVE ORIGINAL

CLEAN




@ W= NS / FORD MUSTANG 2015 )
/ INSTALLATION MANUAL
(( )

REAR
A INNER VIEW

O=

ALIGN

] \

REAR

@ REPLACE WHEEL WELL & SECURE WITH TORX SCREW




/

FORD MUSTANG 2015

@ (7//@5\/6\/%

INSTALLATION MANUAL )

-

@: PLACE PUSH PINS

~
@ RE-INSTALL FRONT WHEEL WELL WITH PUSH PINS ‘




~
| FORD ACCESSORIES FORD - MUSTANG 2015 +

e / INSTALLATION MANUAL B
p HOOD SCOOP

WARNING!! Do not install Hood Scoops or other Body Parts directly Over Wrapped
areas. Before installation of the parts, you must leave at least a 1/4” (6mm) perimetral
clearance “Free from Vinil” surrounding the part, before Part installation.

A

WARNING!! Do not install Hood Scoops Over Vinil or Over Plastic Stripes on the Hood: 3M Adhesive
Tape and PUR Adhesive must always be in contact with the Sheet Metal of the vehicle.

A

WARNING!! Rust Prevention Oils and other Petrol Based Anti Rust Treatments for Vehicles
may affect 3M’s Double Adhesive Tape and Polyurethane Adhesive performance!

READ CAREFULLY BEFORE A
DO NOT DRIVE SLOWLY
A INSTALLATION WASH CAR 25 mph max
WE RECOMMEND 2 PERSONS FOR INSTALLATION Hﬁa‘% l I ﬁ_
24 hrs




FORD - MUSTANG 2015 + |
INSTALLATION MANUAL )

~
GHE GK LIS T *Ya instaladas en la pieza
ITEM DESCRIPTION DRAWING AMOUNT
A * VHB TAPE iringlllugaer?s
B GREASE PENCIL 1 pc
C POLYURETHANE ADHESIVE @ 1 pc
D BLACKOUT /—' 1 pe
E ECO DOME L DES IS ) 1 pc
- J




oo rccessomes /. FORD - MUSTANG 2015 + |

Licensed
ya INSTALLATION MANUAL )
.

WASH WITH WATER, DETERGENT AND ENSURE VEHICLE SURFACE TEMPERATURE AND PART
SOFT CLOTH OR SPONGE ARE AT OR ABOVE 60 F / 16 C PRIOR TO INSTALLATION

o:PRE-MOUNT BLACKOUT e:PLACE BLACKOUT g

STEPS:

1. CLEAN SURFACE WITH ACETONE

2. APPLY WATER TO SCOOP AND STICKER
3. PLACE & PRESS

THIS ELIMINATES GLARE CAUSED BY
REFLECTED LIGHT.




@ W o=\i—y ,/ FORD-MUSTANG 2015 + |

ya INSTALLATION MANUAL )
(( )

e:ALIGN & CENTER MARK A HASH MARKS

WITH THE GREASE PENCILTIP IN
CONTACT WITH THE BODY AND SCOOP,
DRAW A DASHED LINE ON THE VEHICLE
AROUND THE SCOOP.

‘ ) GREASE PENCIL
\

PEEL ENSURE VEHICLE SURFACE TEMPERATURE AND PART
ARE AT OR ABOVE 60 F / 16 CPRIORTO INSTALLATION

PEEL OFF

LINER
|

Hold the liner out

A full surface contact between tape and substrate is important for good adhesion performance. Contact is achieved by
applying pressure. In practice a pressure between 40 and 50 N/cmz is usually needed and an application temperature
between 25 and 45 °C or 77 and 113 °F is also necessary. During application, add-on parts and tapes must have the similar
temperature.




oo rccessomes /. FORD - MUSTANG 2015 + |

Licensed \
/ INSTALLATION MANUAL
( )
MAKE SURE VEHICLE SURFACE IS
APPLY ADHESIVE COMPLETELY DRY BEFORE INSTALLING

Keep the indicated
separation1” | .

USE ACETONE
TO CLEAN

WATER DRAIN
KEEP OPEN WITHOUT
ADHESIVE

o Olg é
/\\003(7‘)

- Y,




@ (7//775&/6\// FORD - MUSTANG 2015 + |

/ INSTALLATION MANUAL )
f( )

‘ I . PRESS @:CLEAN OFF GREASE PENCIL MARK




@ W= NS FORD MUSTANG 2015
ya INSTALLATION MANUAL )

FRONT BUMPER MUSTANG 2015 )
PART # : 1121CXGUFO22A02

Airdesign’s Mustang front bumper is designed
to align with Fords factory hood, we will not
guaranteed alignment of replica hoods.

READ CAREFULLY BEFORE
INSTALLATION

We recommend 2 persons for installation

CHECK LIST *Already installed in the part
ATEM | DESCRIPTION DRAWING AMOUNT
]
A STAINLESS LOCKNUT MB = 10 pes
BUTTON HEAD STAMLESS
5 SCRAEW ME X 168 ¢ e 8 pes
C TORX BOLT 316 X 34 w' 16 pes
PHILLIPS HEAD SEMS TAPPING
a SCREW M4 ZX20 .’ pes
E WASHER 114 = 20 pes
F L-MUT 4.2 X 14 _@ 12 pes
L
G Z12-BRACKET ﬂ““y 4 pes
H Z03-BRACKET o= B pos
ALLEN HEAD SCREW 4
' ME X 20MM ¢ T wpes
J L - BRACKET g__'w 2pes
K TEMPLATE ) included in
— ha manual
L ECO DOME =3 1 pes
N J




\

@ W= NS FORD MUSTANG 2015

ya INSTALLATION MANUAL )
(. - |
& REMOVE FRONT WHEELS AWASH WITH WATER, DETERGENT AND

SOFT CLOTH OR SPONGE




@ CHo=SNIN

FORD MUSTANG 2015

~

h /

INSTALLATION MANUAL

N

6 REMOVE PUSH PINS

e: UNPLUG LIGHTS

~




@ o= SNN

FORD MUSTANG 2015

\

INSTALLATION MANUAL

.

N

G

Q: REMOVE FRONT BUMPER

@ REMOVE RUBBER SEAL

CUT LAST PIN

~




@ o=

(

FORD MUSTANG 2015

<

INSTALLATION MANUAL

@: REMOVE BUMPER RETAINER

PLASTIC

~BRACKET-Z03

U-NUT 4.2 X 14

FRONT BUMPER —. S—

%




D aro=vcy / FORD MUSTANG 2015
/ INSTALLATION MANUAL )
e - §
@PLACE BRACKETS (G)
= J : WASHER Lﬂc,:-fﬁm
TN &
ot
516 MM
BRACKET - X E.:d__-
/U—NUT 42614
FRONT BUMPER —__ —
BT O
1
{
W
- y,




~

@ W= NS FORD MUSTANG 2015

/ INSTALLATION MANUAL )
7 )

®: PLACE LIGHTS, GRILLS & IMPACT ABSORBER IN NEW FRONT BUMPER ‘

@: PLACE RUBBER SEAL

USE SUPER GLUE TO FIXTHE RUBBER SEAL
EDGE TO THE RADIATOR COVER AFTER STEP 25




\

@ W= NS FORD MUSTANG 2015
ya INSTALLATION MANUAL )

\
J

@: SECURE THE PART AND PLUG IN THE LIGHTS




@ W= ) FORD MUSTANG 2015
) ya INSTALLATION MANUAL
-

@:PLACE RADIATOR COVER PLACE PUSH PINS

IR >
."




FORD MUSTANG 2015

DRILL TEMPLATE

==z
M 50 M

-

.ﬁ scale reference £k

J




.@ 7% | FORD
ST Licensed

FORD - MUSTANG 2015 +

ACCESSORIES/

INSTALLATION MANUAL )

~

QUARTER PANELS SCOOP SET

DO NOT DRIVE SLOWLY
WASH CAR 25 mph max

READ CAREFULLY BEFORE
INSTALLATION

’j WE RECOMMEND 2 PERSONS FOR INSTALLATION '

GHEGK LIS T *Already installed in the part
ITEM DESCRIPTION AMOUNT
* (= Included
A VHB TAPE ) in all parts
)
B GREASE PENCIL e 1pc
C ADHESION PROMOTER 1pc
D ADHESIVE POLYURETHANE jﬂ 1pc
E FOAM CUTS [ ‘h 1 set
F ECO DOME ==Y 1 pc
- )
- J




@ W= FORD - MUSTANG 2015 +

/ INSTALLATION MANUAL
o:CLEAN THE SCOOP AAFTER PAINTING QADHESION PROMOTER
FIRST CLEAN ALL OVER
A THE APPLICATION AREA
WITH ACETONE
;j%,f,'% L]
WARM SURFACES WITH HEAT GUN IF
PEEL SURFACE TEMPERATURE IS TOO COLD A
PEEL OFF A full surface contact between tape
LINER and substrate is important for good
«— adhesion performance. Contact is
achieved by applying pressure. In
practice a pressure between 40 and
50 N/cmz is usually needed and an
- application temperature at or above 16
' °C or 60 °F is also necessary. During
application, add-on parts and tapes
must have the similar temperature.
Hold the liner out
a PLACE GRILL QREMOVE LINER
- J




& | Accasson.es/ FORD - MUSTANG 2015 +
_ /

INSTALLATION MANUAL )

r A
WASH WITH WATER, DETERGENT AND
CLEAN SOFT CLOTH OR SPONGE

g

APPLY PRESSURE ‘ -;;
40-50 N/cm?
(:, PRE-MOUNT
LOCATE
FOAM CUTS

11

PEEL

PEEL OFF

LINER
|




@ (7//775&/5\// FORD - MUSTANG 2015 +

/ INSTALLATION MANUAL )
s - )

WASH WITH WATER, DETERGENT AND
CLEAN SOFT CLOTH OR SPONGE

APPLY
PRESSURE

‘ : ! PRE-MOUNT

MARK

WITH THE GREASE PENCIL TIP IN CONTACT
WITH THE BODY AND SCOOP, DRAW A DASHED
LINE ON THE VEHICLE AROUND THE SCOOP.

D5
Q&e pé),c
%
A HASH MARKS Q)

1/8 GAP
FROM DOOR




¥ | FORD ACCESSORIES FORD - MUSTANG 2015 + )

Licensed
/ INSTALLATION MANUAL A
~
WARM SURFACES WITH HEAT GUN IF
SURFACE TEMPERATURE IS TOO COLD A
A full surface contact between tape
PEEL OFF and substrate is important for good
adhesion performance. Contact is
LINER achieved by applying pressure. In
«—

practice a pressure between 40 and
50 N/cmz is usually needed and an
application temperature at or above 16
°C or 60 °F is also necessary. During
application, add-on parts and tapes
must have the similar temperature.

Hold the liner out

@APPLY ADHESIVE

MAKE SURE VEHICLE SURFACE IS
COMPLETELY DRY BEFORE INSTALLING




@ (7//775&/5\// FORD - MUSTANG 2015 +

g / INSTALLATION MANUAL )

p
@REMOVE LINER PRESS

J

40-50 N/cm?

INSTALLED PARTS




FORD ACCESSORIES FORD - MUSTANG 2015 + )
INSTALLATION MANUAL A

-

N
QUARTER WINDOW SCOOP SET

WARNING!! Do not install Hood Scoops or other Body Parts directly Over Wrapped
areas. Before installation of the parts , you must leave at least a 1/4” (6mm) perimetral
clearance “Free from Vinil” surrounding the part, before Part installation.

A

WARNING!! Do not install Hood Scoops Over Vinil or Over Plastic Stripes on the Hood: 3M Adhesive
Tape and PUR Adhesive must always be in contact with the Sheet Metal of the vehicle.

A

WARNING!! Rust Prevention Oils and other Petrol Based Anti Rust Treatments for Vehicles
may affect 3M’s Double Adhesive Tape and Polyurethane Adhesive performance!

- e o | READ CAREFULLY BEFORE
DO NOT ADRIVE SLOWLY A
WASH CAR 25 mph max INSTALLATION
| l% l I @_ G WE RECOMMEND 2 PERSONS FOR INSTALLATION
24 hrs
J




@ (7//775&/6\// FORD - MUSTANG 2015 +

/ INSTALLATION MANUAL )

~

NG AD
il

CHECK LIST *Already installed in the part
ITEM DESCRIPTION DRAWING AMOUNT
A * VHB TAPE = iringl'lugae d
B GREASE PENCIL 1 pc
C ADHESION PROMOTER 1 pc
D BLACKOUT 1 set
E ECO DOME [ W D=S IS~ J 1 pc




(/ | Egmmcessomes FDRD - MUSTANG 2015 + A
- ya INSTALLATION MANUAL h

N
aCLEAN THE SCOOP &ADHESION PROMOTER

AFIRST CLEAN ALL OVERTHE APPLICATION AREA WITH ACETONE

(r

WARM SURFACES WITH HEAT GUN IF SURFACE
TEMPERATURE IS TOO GOLD.

PEEL OFF A
LINER A full surface contact between tape

and substrate is important for good
adhesion performance. Contact is
achieved by applying pressure. In
practice a pressure between 40 and
50 N/cmz is usually needed and an
application temperature at or above 16
°C or 60 °F is also necessary. During
application, add-on parts and tapes
must have the similar temperature.

Hold the liner out

‘ ' PLACE aREMOVE LINER




/ FORD - MUSTANG 2015 + )

INSTALLATION MANUAL )

-

~

e; CLEAN WASH WITH WATER, DETERGENT AND
SOFT CLOTH OR SPONGE

=

40-50 N/cm?

29

9 APPLY WATER TO STICKER




FORD ACCESSORIES FORD - MUSTANG 2015 + )
INSTALLATION MANUAL A

~
‘ E! PRE-MOUNT

A MAKE SURE VEHICLE SURFACE IS
COMPLETELY DRY BEFORE INSTALLING

AN

WARM SURFACES WITH HEAT GUN IF SURFACE
MARK A HASH MARKS PEEL A TEMPERATURE IS T0O COLD.

WITH THE TIP OF THE GREASE PENCIL IN CONTACT WITH THE PEEL OFF

VEHICLE BODY AND THE SCOOP, DRAW A DASHED LINE ONTHE LINER
VEHICLE AROUND THE SCOOP. ]
-—
MASKING TAPE
T—LINER

Hold the liner out

A full surface contact between tape and substrate is important for good adhesion performance. Contact is achieved by
applying pressure. In practice a pressure between 40 and 50 N/cmz is usually needed and an application temperature
between 25 and 45 °C or 77 and 113 °F is also necessary. During application, add-on parts and tapes must have the similar

temperature.
@\TDHESION PROMOTER ‘a PLACE
AFIRST CLEAN ALL OVERTHE APPLICATION AREA WITH ACETONE £




N
@ (7//775&/6\// FORD - MUSTANG 2015 +
_ ya INSTALLATION MANUAL )
( N
@REMOVE LINER ‘ :l PRESS
APPLY PRESSURE /
Q i \
- \ = A
40-50 N/cm?
@CLEAN OFF GREASE PENCIL MARK
\_ J
\ J

Looking for body kits and ground effects? Visit our website.


https://www.carid.com/body-kits.html

	Пустая страница
	Пустая страница
	Пустая страница
	Пустая страница



